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Add More Than 4-Digits

Add More Than 4-Digits

5a. Use the place value counters fo add
the numbers below.

5b. Use the place value counters fo add
the numbers below.
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4a. True or false? 4b. True or false?
6521 8 37 49
2703 51577
+ 3019 2 + 27 303
88113 8 2 6 29
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7a. Complete the bar models below. 7b. Complete the bar models below.
A ? A ?
41,234 15,801 32,347 | 2,346 47,035
B. [12,096| 24,938 | 75422 8| 27,190 16,413
Wl ? vl ?
8a. Solve the addition calculations below. | 8b. Solve the addition calculations below.
1) 44,058 + 13,239 = 1) 83291+1,290+11,821 =
) slvfojeln ) 291 68
4 5 5 3
+ 1 3 7 0 4
+ 3 9 8 7
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Add More Than 4-Digits

4a. Alan and Oscar are comparing thelr
income.

4b. Susie and Emma are comparing their
income.
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Oscar
Who is correct? Explainwhy.

Emma
Who is correct? Explain why.

5a.Add the missing place value counters
fo make this addifion correct.
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Sb. Add the missing place value counters
to make this addifion correct.

1000051,000 100s 105 15
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4a. Jaiden completes this sum incomectly.
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Explain the mistake he hasmade.
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&b.Tilly completes this sum incorrectly.
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Explain the mistake she hasmade.
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Expected Expected
50.43,582 + 7,403 = 50,985 5b. 54,098 + 92,356 = 146,454

6a. False as 65,218 + 2,703 + 30,192 = b.Trve
98,113 7b.A =81,728 B=43,603
70.A = 57,035 B =112456 8b.1) 96,402 ii) 42,872

8a.1) 57,297 ii) 67,601
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4a. Alan s correct because £28,568 +
£7,099 = £35,667 which s greater than
Oscar's tofal of £33,944.

5a. Various answers, for example:

7 2 1 8 6

6a. Jaiden's answer should be 102210. He
has forgotten fo add the one hundred that
he has exchanged from the fens column.

Expected
4b. Emmals correct because £30,837 +

£10,865 = £41,702 which is greater than
Susie's foal of £37,155.
5b. Various answers, for example:

100 4 42

6b.Tilly's answer snould be 115,730. In the
hundreds column, she has exchanged
twenty tens (200) instead of fen fens (100).








